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QUESTION 1

Which package of the following does not have classes needed for Android network connections?
A. java.net

B. org.apache.http

C. android.location

D. android.net

Correct Answer: C

QUESTION 2

Which of these is the correct explanation regarding the following methods? (1)android.content.Context.sendBroadcast
(2)android.content.Context.startActivity

A. Both methods are defined by overloading.

B. Both methods throw an exception.

C. Both methods are asynchronous.

D. Both methods are able to broadcast an Intent.

Correct Answer: D

QUESTION 3

Check the following image which is a part of AndroidManifest.xml file, then select which of the following choices is the
correct description of the gray highlighted color of this code?

<?xml version="1.8" encoding="utf-&"2>

<mainfest xmlns:android="http://schemas.androld.com/apk/res/android"”
pockage—"com.androidotc.lesson B8 webvicw"»

<uses-permission android:name="android.permissicn.INTERNET" />

<application

android:allowBackup="true"
android:icon="#mipmap/ic_ launcher’
android:label="@string/app_name”

android: roundlcon="@gmipmap/ic_launcher_round”
android:supportsRtl="true"

A. This permission tag allows other apps to make remote connection to this app.
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B. This permission tag allows this app to connect to the Internet.
C. This permission lag has been written in the wrong location, it must be written inside tag.
D. This permission tag allows this app to connect to its SQLite database.

Correct Answer: B

QUESTION 4

Which of the following is incorrect about the LogCat tool?

A. A LogCat view is available as part of the ADT plugin of Eclipse.

B. You can create a log in your application using Log.v(String, String).

C. Each log message has a tag.

D. Only one of your application can create log entries, and it should be component class (Activity, Service,...etc).

Correct Answer: D

QUESTION 5

The following images include an Android code for SeekBar (id: MyseekBar) and one state of its operation. What does
"Result" represent in this code?

Class MainActivity :AppCompatActivity() {
lateinit var slider: SeekBar
lateinit var value: TextView
override fun onCreate(savedInstanceState: Bundle?) {
super.onCreate(savedInstanceState)
setContentView(R.layout.activity main)
slider = MyseekBar
valu = Result
Slider.setOnSeeBarChangeListener(object : SeekBar.OnSeekBarChangeListener {
override fun onprogressChanged(seekbar: SeekBar. progress: int, fromUser: Boolean) {
value.text = “Release your thumb to select .. * +progress.toString()
} Release your thumb to select .. 3
override fun onStartTrackingTouch(seekBar: SeekBar?) {
value.text = “Tracking Started ...... " + slider.progress
}
override fun onStopTrackingTouch(seekBar: SeekBar?) {
value.text — “Thank you for selecting” + slider.progress

}

1}
}

A. Result is the seekbar id.
B. No any role for Result in this code.

C. Result is the id of TextView widget which will show the result messages of SeekBar operation.
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D. Result is the maximum value of SeekBar steps that can be moved.

Correct Answer: C

QUESTION 6

What is a correct statement about an XML layout file?

A. A layout PNG image file.

B. A file used to draw the content of an Activity.

C. Afile that contains all application permission information.
D. A file that contains a single activity widget.

Correct Answer: B

QUESTION 7
Which of the following best explains the Android context menus?
A. Itis a popup menu displays a list of items in a vertical list that\\'s anchored to the view that invoked the menu.

B. It is a floating menu that appears when the user performs a long-click on an element. It provides actions that affect
the selected content or context frame.

C. Itis the primary collection of menu items for an activity. It\\'s where you should place actions that have a global
impact on the app, such as "Search," "Compose email," and "Settings".

D. Itis a sub-menu of an options menu item.

Correct Answer: B

QUESTION 8

Which of the following is true about the Dialog class? (Choose two)
A. You can add a custom layout to a dialog using setContentView().
B. A dialog has a life-cycle independent of the Activity.

C. A dialog is displayed on the screen using method show().

D. It does not have a method to access the activity that owns it.

Correct Answer: AC

QUESTION 9
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When creating a file using android.content.Context.openFileOutput("test.txt", 0), where is the file created?
A. /data/appl//files

B. /data/data//files

C. Isystem/appl/files

D. Application /system/data//files

Correct Answer: B

QUESTION 10

What does the following line of code achieve?

Intent intent = new Intent(FirstActivity.this, SecondActivity.class );
A. Creates a hidden Intent.

B. Creates an implicit Intent.

C. Create an explicit Intent.

D. Starts an activity.

Correct Answer: D

QUESTION 11

When using an implicit intent, what process does the system use to know what to do with it?
A. Intent resolution

B. Intent declaration

C. Intent overloading

D. Intent transition

Correct Answer: A

QUESTION 12

Fill in the blank space in the following sentence with the correct choice: The.................... to arranges widgets in
positions relative each other.

A. RelativeLayout

B. Table Layout
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C. Linear Layout
D. ConstraintLayout

Correct Answer: A

QUESTION 13

Which Which of the following does NOT correctly describe interface android.widget.Adapter?
A. It is an object that acts as a bridge between a View and underlying data for that view.

B. It provides access to the data items.

C. It provides access to deprecated ListView methods.

D. It is responsible for making a View for each item in the data set.

Correct Answer: C

QUESTION 14

Consider the following code snippet:

String[] result_columns = new String[{KEY_ID, COL1, COL2};

Cursor allRows = myDatabase.query(true, DATABASE_TABLE, result_columns,
null,null,null,null,null,null);

Which of the following prints out the values of COL1 column correctly if the result is not empty?

A. if (cursor.moveToFirst()) {do {System.out.printin(cursor.getString(1));}while (cursor.moveToNext()); }
B. do {System.out.printin(cursor.getString(0));}while (cursor.moveToNext());

C. if (cursor.moveToFirst()) {do {System.out.printin(cursor.getString(0));}while (cursor.moveToNext()); }
D. if (cursor != null) {do {System.out.printin(cursor.getString(1));}while (!cursor.isNull()); }

Correct Answer: A

QUESTION 15

Which method should you use to start a sub-activity?
A. startActivity(Intent intent)

B. startActivityForResult(Intent intent)

C. startService(Intent intent)
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D. startSubActivity(Intent intent)

Correct Answer: B
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